CBSE Class 12 Chemistry Compartment Question Paper 2020 (September 24, Set 2- 56/C/2)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises four sections — A, B, C and D. There are
37 questions in the question paper. All questions are compulsory.

(i11)  Section A — Question nos. 1 to 20 are very short answer type questions,
carrying 1 mark each. Answer these questions in one word or one sentence.

(111) Section B — Question nos. 21 to 27 are short answer type questions, carrying
2 marks each.

(iv) Section C — Question nos. 28 to 34 are long answer type-I questions, carrying
3 marks each.

(v)  Section D — Question nos. 35 to 37 are long answer type-1I questions, carrying
5 marks each.

(vi) There 1s no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of two marks, 2 questions of three marks and
all the 3 questions of five marks. You have to attempt only one of the choices in
such questions.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators and log tables is not permitted.

SECTION A

Read the given passage and answer the question numbers 1 to 5 that follow : 1x5=5

A large number of simple molecules called monomers combine together
by the process of polymerisation to form a macromolecule called polymer.
If the repeating structural unit is derived from one type of monomer, the
polymer 1s called homopolymer. If the repeating structural unit 1s derived
from two or more monomers, then the polymer i1s called copolymer.
Homopolymer and copolymer may be formed by addition or condensation
reaction. In view of the general awareness and concern for the problems
created by the polymeric solid wastes, certain new biodegradable

polymers have been developed.
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1.  S9-H=ThE SigcTeh 1 Tk Ig8 S |
2.  UTehicieh Sgcieh shl Tsh I8 GIT |
3. Sadl W A Uk arcfl (AH-fegeh) ¥dg o W99 % [0Y 9Yeh Sgaieh okl A
18T |
4.,  FAUYH Teholsh o dgoishd H 4 Sgoieh shl HL=A1 GiTT |
5. %1 +CH, - CH (CgHp) 4, U HHaES 3 AT Hgagaleh ?
Y97 &I 6 & 10 U /e 37T & | 1x5=5
6. 39 A9 o1 0 Iq13C [STE 7Y a9 W oA a9d & |
7.  Hidl 9G4 o "I Hic ATcishdl H Yied hl Tk Ity |
8. TRl &eh o bl bl 1’ fefd W g4 & fHiHa sehrs &1 7™ Sarsy |
9. TH UH Hid & 35aW0 TaiRau forey 1| 0 Ueh 319 uiferd 2 |
10. Ufcied, URIEH 3R FEhiclid H 9 39 W HYEh shl I8 hilore fgeht g
Hd THT W™ MG 1 & 90ET § |
T97 &7 11 & 15 TEEH1T J97 & | 1x5=5
11. < 99 91 YH] T@H el 3195h 8
(A) T
(B) BHITES
(C) HHTEE
(D)  <hI 9TSUISE
-56/G/2. 4
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1. Give an example of a biodegradable polymer.
2. (Give an example of a natural polymer.
3. Name the polymer used for coating non-stick utensils.
4, Draw the structure of the polymer formed by the polymerisation of
monomer chloroprene.
5. Is tCH, —CH (CzHg) 1, a homopolymer or a copolymer ?
Question numbers 6 to 10 are one word answers. FxXH=5
6. Name the temperature above which micelle formation takes place.
7. Predict the change 1n molar conductivity with the increase 1n
concentration.
8. Name the unit formed by the attachment of a base to 1" position of sugar.
9. Write an example of a sol i1n which a solid 1s dispersed in the gas.
10. Out of alitame, aspartame and sucralose, 1dentify the artificial sweetener
with which the control of sweetness 1s the major concern.
Question numbers 11 to 15 are multiple choice questions. Ix5=5
11. The ore having two different metal atoms 1s
(A) Galena
(B) Haematite
(C) Magnetite
(D)  Copper pyrite
56/G/2 5 P.T.0
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T} T ATIE + 3 TTHT TR0 FAIEAT SINd &, AU Ce + 4 STTEAT TN
g, Itch

(A) I8 Ichse T AfHfoImE ureq A i gl WEar 7 |

(B) Ig UNEd-siel AT Tl T@dl & |

(C) I8 13T 3L TU i <hl Y Tl 7 |

(D) 3T 6sH Uk (WA oladd aral & |

fafafga 8 9 - arfyeet gfaeemua stfufsear & gfa @difees
rfifsrarsfier @ 2

(A) CH,=CH-Cl

(B) CgHs—Cl

(C) CH4CH=CH-CI

(D) CH5-CH, - CH,-Cl

TSITSH hl SAUREid H i3 SII-TEMS AHHAT 0= 1 T3 R AMUTHAT 1

3T 106 min! URM T | Al @1 AMUKAT THAEH hl IUEATT H TFIF h
SQ, dl SAMSHAT sl B, (Flsha0 1) 1 @1 BT 2

(A) =&
(B) 1076 min~! I 37t g S0

(C) 10~ 6 min~! ¥ @ g1 1w
(D) g A T8 7, E, (|fshaor 1) St ynfh T2 st <1 Fehet 3

38l uftfeafaai |, UfHElA 1 STSUSAR Hieh BHIA | AfWhd B W T
3cq1E UTed BIdT 3 | T 341G shl EC=H1 3

(A) (CHg)y—-N—<o»NH<o>
(B) CH3—<o»N=N<o)> NH,
() HO<Xo»N=N<o>

(D) HO <o )»NH-<o)
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12. All the lanthanoids show + 3 as the common oxidation state, yet Ce
shows + 4 state because

(A) 1t has a tendency to attain noble gas configuration.
(B) 1t has a variable 1onization enthalpy.
(C) 1t has a tendency to gain 1 more electron.

(D) 1t has an unpaired electron in 6s.

13. Out of the following, the one which 1s most reactive towards nucleophilic
substitution reaction is

(A) CH,=CH-Cl
(B) CgH;—Cl

(C) CHyCH=CH-Cl

(D) CH,- CH, — CH, — Cl

14. A biochemical reaction was carried out in the absence of enzyme and the

rate of reaction was found to be 10~ ° min—!. If the same reaction is now
carried out in the presence of enzyme, then the E,_ for the reaction will

be

(A) same

(B) greater than 10~ % min—1

(C) lower than 10~ % min—1!

(D)  Data insufficient, i, cannot be predicted

15. In cold conditions, aniline 1s diazotized and then treated with phenol to
give a coloured product. The structure of the coloured product is

(A) (CHg)y—N < o> NH<o)
(B) CH3—<o)»N=N-<o» NH,
() HO<o)»N=N<o)

(D) HO <o) NH<o)
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Tv7 &A1 16 @ 20 & 670, 31 %97 130 10 § 577 vk &l Sf9aT (A) 79T 3R
&1 ST (R) ZTRT 3lhd f&ar =7 § | 37 991 & @gT 3w 4749 130 70 HiET (i),
(i), (iii) 3R (iv) T @ GAF G0 : 1x5=5

(i)  AHBI (A) 3 RO (R) AT Tl HAF 7, 3 B (R), HHHIA
(A) <h! T&l ATSIAT 8 |

(i) AYHT (A) IR RO (R) qHI #& HIH &8, W< dr0 (R),
IR (A) hl Tal AT g7 2 |

(iii) AUHYT (A) F&l 8, T HRUT (R) TTeTd I 2 |

(iv) 39 (A) TAd 7, 9 HRYT (R) T& HIF 8 |

16. 3YFHIT(A) : o TILAT H Itz ) Aitardr 99 & "1 Yiafdd ardl & |

FRU(R):  d9 H YHEdq o 1Y [Ia@9 1 =¥ 9iafdd 2idr 2 |

17.  379FIT (A) : FARNPA Ueh IUHHIISH AH 2 S gt Il ¥ I9fEra g
2 |

FRU (R) . FAUTSA H Fe AT 8 S FATRA o 8L T o [0 IAERT 8 |

18. S¥FHI7 (A) : Gl 3T WS 2 |

FRU(R) :  3ATEH UH WHA Bld & NHE 97q i AEHEN AR AT9Y9E §9 9
gTeq feRam ST Hehdl & |

19.  3719%97 (A) : SF, %l TA-3ied fRAT ST Hehdl B i SF <l &1 |

%R (R):  SFgH IUEAd B8 F o YA hrgld S WA W HyO o SATShHAT
T ®h1ae 399 hid & |

20. FHIYHYT (A): ANHT GHN IMMUh GeIHM aTcl Ucehdl ehl ol H Ucehlgiall o
FIYATh I B & |

FRU(R):  Ucehigiall H -3 BEgISH €Y Bd & |
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For question numbers 16 to 20, two statements are given — one labelled

Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (i), (ii), (iii) and (iv) as given
below : I%5=0

(1) Both Assertion (A) and Reason (R) are correct statements, and
Reason (R) 1s the correct explanation of Assertion (A).

(11) Both Assertion (A) and Reason (R) are correct statements, but
Reason (R) 1s not the correct explanation of Assertion (A).

(111) Assertion (A) 1s correct, but Reason (R) 1s incorrect statement.

(1v)  Assertion (A) 1s incorrect, but Reason (R) 1s correct statement.

16. Assertion (A): Molality of a solution in liquid state changes with
temperature.

Reason (R): The volume of solution changes with the change in
temperature.

17. Assertion (A) : Chlorophyll 1s a coordination compound which 1s present
in green leaves.

Reason (R):  Chlorophyll contains Fe which 1s responsible for the green
colour of chlorophyll.

18. Assertion (A) : All ores are minerals.

Reason (R): Ores are minerals from which metal can be extracted
conveniently and profitably.

19. Assertion (A) : SF, can be hydrolysed but SF; cannot be.
Reason (R):  Six atoms of F in SF; prevent the attack of H,O on the

central S atom.

20. Assertion (A) : Alcohols have higher boiling point than alkanes of
comparable molecular mass.

Reason (R):  Alcohols have intramolecular hydrogen bond.
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WUE @
21.  [PtCly(en),|2+ s SATHAE GHIGIE] hl GLHH] FAT3C | 2
22, THHIRGA 91q3ti o YT o THGIdl ehl TRET ST 1x2=2
(a) Ge
(b) Zn

23. frmfafiga Heffa smri 4 sgfma seegil 1w aitefod Hife -
Tid+ 3R Cr3+ (W] 3hHT : Ti = 22, Cr = 24)
Y W hiA-A1 T Taerdd 4 qaiiees T2rit 8 A = 2 2

24, TR @ & Jcdeh o U Ta[q-3Tqeed § UTed IcATGH shl ATIRh <hitoll @ Ix2=2
(a) Pt 3AwRISI & 19 CuSO, 3kl Sl fec=H
(b) Pt 3ciaeISl o 19 AgNO, 1 FcATd Toera

HYAT

2 A Tof[d a1 gii-Fe3+ @ 3 HIAT ol Fe2+ H 3ARIA i b (1T Toha- HehUSI
$l MaRgHal gl ?

(fem 1 8 : 1 F = 96500 C mol1) 2
25.  3I3TELN ad §Y, YiaUel 3R forEshrl | faug ISy | 2
26. 97 feorres 1 gftwriya hifSw qen fopet gom hife bl Afufshan & fow am

e 3T 319-311Y I o HEY TV FaY G | 2
27.  TaeIfEAl =l giHTivG shITNTT 3T 39kl Taeldl o STMYR W 3=g difichd hITT | 9

GG
WEAT Sl GRATVG hIT 3R 3Tkl ATMUSR 3TTehid o MU T Ig ichd
I, | 2
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B =
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SECTION B
21. Draw the geometrical isomers of [PtCl2(en)2]2+. 2
22. Outline the principles of refining of the following metals : IxG=2
(a) Ge
(b) Zn
23. Calculate the number of unpaired electrons in the following gaseous
10NS :
Ti°*t and Cr3* (Atomic number of Ti = 22, Cr = 24)
Which one of them 1s most stable in aqueous solution and why ? 2
24. Predict the products of electrolysis in each of the following : I1x2=2
(a)  An aqueous solution of CuSO, with Pt electrode
(b) = An aqueous solution of AgNO4 with Pt electrode
OR
How many seconds does it require to reduce 3 moles of Fes*t to Fe?t with
2 A current ? (Given : 1 F = 96500 C mol1) 2
25. By giving example, differentiate between antiseptics and disinfectants. 2
26. Define rate constant and give the mathematical relation between rate
constant and half-life period for a first order reaction. 2
27. Define vitamins and classify them on the basis of their solubility. 2
OR
Define proteins and classify them on the basis of their molecular shape. 2
56/G/2. 11 P.T.0
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28. THfciRga fufshamatl 4 i g 3curgl shl @1 ffigu 1x3=3
1 NaBH
ablly
(a) é—CH2—(‘3‘—O—CH3 >
O
H,0, H"
(b) HCHO + CH;MgBr .
(C) O/ DSy S
SO
(a) TA=tafgd ®9m=awor gv9e $Ifu - Ix2=2

(1)  TdH ¥ IuE-2-3ATd
(i) Sl FaRse ¥ sfc Uoehlgiat
(b) . HHIIREd AR hl 3IAhl ITFcild HH o ¢d g 3hH H SFaedd
w ; 1
ATIIARHIA, B, 48

29. C,H-NH,, (C,Hy), NH d1 (C,Hy); N hl Ug=H s 10T Tk iy 1 quH
hITT | Felg ANTRIATI o TolT TErieh el i forfge | 3

30. 0-002 M UHIfeh 31T shl TTeTehdl 8 x 10° S em—1 8 | 3HH! HIcK Teiehdl Ud
fodiem a3 () gfwfoa difse gfe wdifes sma & fow AL, &1 #H
390-5 S cm2 mol~1 71 | 3

31. Ueh YUY hife <hl AMUHAT T a7 fETH 49 x 1073 s~1 B | 30 IT(Hha
U AlHRe Hl 4g HET I 9 3 g 89 U Tohadl THI M ?
[log 4 = 06020, log 3 = 0-4771] 3
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SECTION C

28. Write the structure of the main products formed in the following

reactions : Ix3=3

O
NaBH,
O
H,0, HY
(b) HCHO + CH,MgBr >
© (T 2,
OR
(a)  Carry out the following conversions : 1x2=2

(1) Propene to propan-2-ol
(11)  Benzyl chloride to benzyl alcohol

(b)  Arrange the following compounds in increasing order of their acidic
strength-: )i

4-Methylphenol, Phenol, 4-Nitrophenol

29. Describe a method for the identification of CoHNH,, (CoHg), NH and

(CoHg)g N. Also write the chemical equations for the reactions involved. 3

30. Conductivity of 0-:002 M acetic acid is 8 x 10 S em~1. Calculate its molar

conductivity and degree of dissociation (o) 1f /\c;n for acetic acid 1s
390-5 S cm? mol1. .

31. A first order reaction has a rate constant 4-9 x 10> s~1. How long will 4 g

of this reactant take to reduce to 3 g ? [log 4 = 0-:6020, log 3 = 0-4771] J
OR
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Hoh!E okl Sel-qded Hfetiad T gt gry H&ud gidT 8

C19Hg90q1 + HoO (M) - CgH,,045 + CgH{904

3UYTh HHIRT & foTu, STk <hIfrg -
(a)  3TOdehdT
(b) <RIl
(c) Gt AfrepHen TR 39Tl o TeH | ATITHAT T o 1x3=3
32. AT Shilaq, T J&I01 BT S
(a)  9REqUr wrew fogd-a J Tid T IREH K 2l 38,
(b) IR I WIA sl A4 T TR STt &8, 3R
(¢) ﬁgﬁ%iﬁﬁmw%@wwél Ix3=3
33. K,CryO, a9/ W pH s 1 YHTE BId1 8 ? 3hiHS 3R STshIHE 3T <hl
OLEHl SHEU AR 39 Tieis o T i foiieu | 3
34. Wﬂﬁlﬁ:
(a) YR 3TfYeRHeh sl IHT § gL T STHT MR,
(b)  ATIHRIFT TTdEATIA ATHTHATIT o6 I FARIs-T Tfdesh &, 37K
(¢) U TGS, ITTAT 9AT Hel U] shl ITUT 3= TelTeh! 8id @ | 1x3=3
QUE g
35. (a) TAHAIREd o 7T R fIlgy - 1x3=3
(i)  HCRIH 3T Teh TgeIRehl 370 7 |
(i)  H,O sl 319&T H,Te hl 3TA1d Yehid 3ATeh 3 |
(iii) TSI Sad Teh ATFEISTEA ST B |
56/G/2 14
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The hydrolysis of sucrose 1s represented by the following chemical

equation :
C1oH95017 + H0 (excess) — CH150, + C:H{50,
For the above equation, predict

(a) molecularity,
(b) order, and

(c) rate of reaction in terms of all the reactants and products. Ix3=3

32. Explain, what 1s observed when
(a)  dispersion medium begins to move in an electric field,

(b) animal hides are soaked 1n tannin, and

(c) electrified sand 1s sprayed on clouds. PR I=3

33. What is the effect of pH on the solution of K,Cr,0O- ? Also give the

structure of chromate and dichromate ion along with the colour of
species. 3

34. (i1ve reasons :
(a)  Grignard reagents should be kept away from water,

(b)  Chlorobenzene 1s resistant to nucleophilic substitution reactions,
and

(c) Para-isomers have higher melting points than ortho and meta

1Somers. Ix3=3
SECTION D
35. (a) Account for the following : bxi=3
(1) Sulphurous acid is a dibasic acid.

(11)  H,Te possesses more acidic character than H,O.

(111) Fluorine forms only one oxoacid.

P T4
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frefetiiga wHfiertor qui i - Ix2=2
(i)  XeFg+ 2H,0 >
i) I+ 3CL >
CUEER)
SOC
fefiigd I ag=d i Amd @ U9l o JAJER F& %hd |
ST shIToU : 1x3=3

(i)  F,, Cly, Bry, L, (319 {ad5H TAeHl o 9¢d T hA H)

(i) HF, HCl, HBr, HI (37Fcig €923 % S¢d 8¢ shd H)

(i) H,0, HyS, H,Se, H,Te (379 10l % =d g shH H)

HfTiad bl FEHTE T8 1x2=2
(@)  ~XeFg

i) * H,S,0-

0 M TR 39k Q1 U 1 3g@ hifu | 2

el Iram™aeiia fad™ &1 5% I a3 s4/=™T =T 3R 39T 373 K
T 9T g6 745 mm IR=T T | 39 A9 W IG A ol 9159 g1F 760 mm

g | Taed o1 Hiek gedmT Uiehicld shitay | 3
3T
TG 3R G fIet=Hl § g A i | 2
100 g 5T ° NaCl (M = 585 g mol~1) <kl b=t AT Hieil STW foh 39
f&HTeh | 2 K 1 37904 81 9T ? Sf % folt K= 1-86 K/m 2 | 3
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(b)  Complete the following equations : IxX2=02
(1) XeFg + 2H,0 >
11) I, + 3Cl, >
(excess)
OR

(a) Arrange the following 1n the order of property indicated for each
set : I¥3=43

(1) F,, Cl,, Bry, 1, (increasing bond dissociation enthalpy)

(11) HF, HCI, HBr, HI (increasing acidic strength)

(i) H,0O, HoS, HoSe, HoTe (decreasing order of bond angle)

(b)  Draw the structures of the following : Ix2=2

i)  XeFg

i) H,S,0-

36. (a) State Henry's law and mention its two applications. 2

(b) 5% aqueous solution of a non-volatile solute was made and its
vapour pressure at 373 K was found to be 745 mm. Vapour
pressure of pure water at this temperature was 760 mm. Calculate
the molar mass of solute. 3

OR

(a) Give two differences between i1ideal and non-ideal solutions. 2

(b)  Calculate the amount of NaCl (M = 585 g mol™!) that must be
added to 100 g of water so that freezing point 1s depressed by 2 K.
K, for water 1s 1-86 K/m. 3
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37. (a) TR Fcaal i GLEATC FAEY ¢ 1x2=2
(1) S cSass ol 2,4-DNP

(i)  9IUAE AT
(b)  THHfIREd GeAY qui I 1x2=2
CH,CH,

(1) > ?
KOH, 3%

(c) HHIA hi UL HIFITFATcTh HFA Jadt T+ 8 | gie shitad | 1
AT

(a) C4HgO, 3EF o fhel whMeiHeh Aeh ‘A’ 1 G4 H,S0, ¥
S-3TTEed {4 I Teh hldldaicIeh 3Tt ‘B’ 3T Teh Ucehlaidd ‘C’ UTed
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Hr{Ieh 0] feTlET | 3
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37. (a) Draw the structures of the following derivatives : IX2=2
(1) 2,4-DNP of benzaldehyde

(11)  Propanone oxime

(b)  Complete the following synthesis : Ixg=2
CH,CH,

(1) > 7
KOH, heat

CH,COCI
i) (o] > 9
anhyd. AlCl,
(c) Carboxylic acid 1s a stronger acid than phenol. Justity. 1
OR

(a)  An organic compound ‘A’ with molecular formula C,HgO, was

hydrolysed with dil. H,SO, to give a carboxylic acid ‘B’ and an
alcohol ‘C’. °C’ on dehydration gives ethene and ‘C’ also on oxidation
gives back ‘B’. Identify ‘A’, ‘B’ and ‘C’ and write the chemical
equations for the reactions involved. 3

(b)  How will you convert ethanal into the following compounds ? Ix2=2
(1) Ethanol
(11) Ethane
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